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ral Currents

e Standard Model q q

CNC lead to the prediction by Glashow, lliopoulos
m quark (GIM hypothesis)
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flavor changing terms cancel out!
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# candidates / 0.2 ps

e Tagged mixed
e Tagged unmixed
— Fit mixed

— Fit unmixed
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ATLAS+CMS Preliminary LHClopWG Nov 20 2015

[f Vel = v%”'ﬂ from single top quark production
thiza

O oot NLO+NNLL MSTW2008nnka
PRDS&3 (2011) 091503, PRDA2 (2010) 054018, ———
PRO&1 (2010) 054028

Aoy scale @ PDF
m,, = 172.5 GeV

fotal theo

If V| = (meas) = (theo)
t-channel:

ATLAS 7 TeV' 1 1.02 + 0.06 = 0.02

PRD 90 {2014) 112006 (4.58 Ib") i

ATLAS 8 TeV —ot— 0.97 +0.09 =+ 0.02
ATLAS-COMNF-2014-007 (20.3 167"}

CMS 7 TeV [ 1.020 = 0.046 = 0.017
JHEF 12 (2012} 035 (1.17 - 1.56 fb") :

CMS 8 TeV [ 0.879 = 0.045 = 0.016
JHEP 06 (2014) 090 (19.7 ™)

CMS combined 7+8 TeV e 0.998 = 0.038 = 0.016
JHEP 06 (2014} 090

CMS 13 TeV [ : o | 1122024 2002

CMS-PAS-TOP-15.004 (42 pb)

Wi: :
ATLAS 7 TeV —_ -y 103015+ 0,03
PLE 716 (2012) 142150 (2.051b7")
CMS 7 TeV —t— 1.01 :g::g :gﬁ
PAL 110 (2013) 022003 (4.9 1)
ATLAS 8 TeV (") HE—te 1.10 0,12 = 0.03
ATLAS-COMNF-2013-100 {203 167)
CMS 8 TeV' —t——— 1.03 =012 = 0.04
PAL 112 (2014) 231802 (122107")
LHC combined & TeV'"* ————— 1.06 = 0.11 = 0.03

ATLAS-COMF-2014-052,
CMS-PAS-TOP-14-008

s-channel:

ATLAS 8 TeV* } . I 0.83 213 . 0.04
arXi:1511.05880 (203 1) :

Wit:
ATLAS 8 Tev"* —+— 1.0120.10= 0.03

% 1
arkiv:1510.03752 (203 1b7) : " including ark mass uncertainty
() Superseeded by results shown below the line : 2 Including beam energy uncertainty
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0.97419 +0.00022  0.2257 +0.0010  0.00359  0.00016
0.2256 +0.0010 097334 +0.00023  0.04151 5001}

+0.00026 +0.000044
0.00874 "5 00037 0.0407 £ 0.0010  0.999133" 5" 500043

VoM =

L322 A AX3(p —in)
V= =~ 1= X% /2 AN? EO0).
AL = p—ig) —AN 1

Vs
V1 Vadl? + [Vus|? ’

Vf::b
Vus

AN (p+in)V/1 — A2)\4
V1= A2[1 — A2)\4(p +in)]

s93 = AN2 = )\

512 = A

s13¢0 = V5 = AN (p+in) =
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